
7 Heavy Metals

Metals.txt online under labs contains information on 17 core samples from Louisiana. Each sample’s
depth was recorded in meters, and then each core was tested for zinc (ppm) and iron concentration
(percentage). You will be exploring the data to determine if depth can be used to predict either

zinc or iron concentration.
1. What does a basic data analysis reveal about the variables? Are there interesting features to

the data? r. j .
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2. Identity the response and explanatory variables. Note there are 2 different regressions to consider

here. L

3. Estimate the correlations and find exact values using Rcmdr. Does a linear regression ap

pear appropriate for predicting either zinc or iron? It may not appear appropriate for all examples.
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4. Fit a regression model if appropriate. Report the fitted regression line. If someone wanted

predictions for a depth of 50 m, what would you tell them?
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5. Does the model look like it fits well? Explain.
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6. Test to see whether or not the predictor is a significant predictor of the response.
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7. Make a confidence interval for the slope. 5 ? t 2. 131
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8. What are the four regression assumptions? Do the regression assumptions appear valid? Ex

plain.
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8 Forest Fires

A data set on forest fires (different than the previous one we had during hypothesis testing) lists
number of fires in thousands along with number of acres burned in millions. Does the number of
fires appear to be a significant predictor for number of acres burned? (Data from Triola). Online
as FFx2.txt.
1. What does a basic data analysis reveal about the variables? Are there interesting features to
the data? A w- 444d rJA4. ..M/ Wt4- 2 75
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2. Identify the response and explanatory variables.
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3. Estimate the correlation and find the exact value using Rcindr. Does a linear regression appear
appropriate? It may not appear appropriate for all examples. 4 ,‘
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4. Fit a regression model if appropriate. Report the fitted regression line. What is your best
estimate of the number of acres burned if there were 5OOO2 fires?
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5. Does the model look like it fits well? Explain.
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6. Test to see whether or not the predictor is a significant predictor of the response.
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7. I\lake a confldefwe interval for the slope.

6 . “222) (,Q372) ,

8. Do the regression assumptions appear valid? Explain.
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